
 الاقترانات اللوغارٌتمٌة:

 ** مراجعة اللوغارٌتمات وعلاقتها بالأسس:
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9 3 1 1
3    1

9  س  

-2  -1  ق)س( 2 1 0 
 

   =2 1 2  1
3

1
3( ) 2 =  1

3

2 1
3( ) =  1

3

1
9( )  = ) 

1
9 ق)    

    =1           1
3

1
3( )    = ) 13    ق) 

 =0 1
3

(1) ( =1ق)   

= س                     1
3

(3) 1 نفرض                
3

(3)   ( = 3ق) 

1-س =             
1 1

3( )


     =
س 1
33                                    

  
1 1

9( )


=  
س 1
3                   

س 1
39                1

3
(9) ( = 9ق)      

   2-س =              
2 1

3( )


= 2

1 1
3
( )

= 
س 1
3   

   

 

 

 

  

 

 

 



 المجال : ح+

 المدى : ح
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 المدى : ح

 الاقتران متزاٌد
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 المقطع الصادي : لا ٌوجد
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